

Tr(M²) :

$$M_{ij}^i = g^{ik} d_u g_{kj} - \frac{1}{D-2} g^{mn} d_u g_{mn} \cdot \delta_{ij}$$

$$(M^2)_{ij} = \left(g^{ik} d_u g_{kl} - \frac{1}{D-2} \underbrace{g^{mn} d_u g_{mn}}_X \delta_{il} \right) \cdot \left(g^{lp} d_u g_{pj} - \frac{1}{D-2} g \cdot X \delta_{lj} \right)$$

$$= g^{ik} d_u g_{kl} \cdot g^{lp} d_u g_{pj} - \frac{1}{D-2} X \cdot g^{ik} d_u g_{kl} \cdot \delta_{lj} - \frac{1}{D-2} X \cdot g^{lp} d_u g_{pj} \delta_{il} + \frac{1}{(D-2)^2} X^2 \delta_{il} \delta_{lj}$$

$$\Rightarrow \text{Tr}(M^2) = (M^2)^i_i = g^{ik} d_u g_{kl} \cdot g^{lp} d_u g_{pj} - \frac{1}{D-2} X g^{ik} d_u g_{kl} \delta_{li} - \frac{1}{D-2} X g^{lp} d_u g_{pj} \delta_{il}$$

$$+ \frac{1}{(D-2)^2} X^2 \delta_{il} \delta_{li} = \frac{X^2}{D-2} + g^{ik} d_u g_{kl} \cdot g^{lp} d_u g_{pj} - \frac{1}{D-2} X g^{ik} d_u g_{ki} - \frac{1}{D-2} X g^{lp} d_u g_{pl}$$

$$= \left\{ g^{ik} d_u g_{ki} = g^{lp} d_u g_{pl} = X \right\} = g^{ik} d_u g_{kl} \cdot g^{lp} d_u g_{pj} - \frac{X^2}{D-2}$$

$$\Rightarrow \frac{1}{4} \text{Tr}(M^2) = \left(\frac{1}{2} g^{ik} d_u g_{kl} \right) \cdot \left(\frac{1}{2} g^{lp} d_u g_{pj} \right) - \frac{X^2}{4(D-2)}$$

$$R_{uu} = d_\lambda \Gamma_{\lambda u}^\lambda - d_u \Gamma_{u\lambda}^\lambda + \Gamma_{\rho\lambda}^\lambda \Gamma_{uu}^\rho - \Gamma_{\rho u}^\lambda \Gamma_{\lambda u}^\rho$$

$$\Gamma_{uu}^\lambda = 0 \quad , \quad \Gamma_{u\lambda}^\lambda = \frac{1}{2} g^{\lambda\sigma} d_u g_{\lambda\sigma}$$

$$\Gamma_{\rho u}^\lambda = \frac{1}{2} g^{\lambda\sigma} d_u g_{\sigma\rho} \Rightarrow \Gamma_{\rho u}^\lambda \Gamma_{u\lambda}^\rho = \left(\frac{1}{2} g^{\lambda\sigma} d_u g_{\sigma\rho} \right) \cdot \left(\frac{1}{2} g^{\rho\ell} d_u g_{\ell\lambda} \right)$$

$$R_{uu} - \frac{1}{2} g_{uu} R = 8\pi G T_{uu} \quad ; \quad \text{the rest is zero}$$

the rest is zero

$$\frac{1}{2} \cdot d_u [g^{\lambda\sigma} d_u g_{\lambda\sigma}] + \left(\frac{1}{2} g^{\lambda\sigma} d_u g_{\sigma\rho} \right) \cdot \left(\frac{1}{2} g^{\rho\ell} d_u g_{\ell\lambda} \right) - \left(\frac{1}{2} g^{i'k} d_u g_{k\ell} \right) \cdot \left(\frac{1}{2} g^{\ell p} d_u g_{p i'} \right) + \frac{(g^{i'k} d_u g_{ki})^2}{2(D-2)}$$

$$= \{x = g^{\lambda\sigma} d_u g_{\lambda\sigma}\} = \frac{1}{2} d_u x + \frac{x^2}{2(D-2)}$$

$$\frac{x}{2} = \Theta \quad ; \quad \text{the rest is zero}$$

$$\Theta = \frac{d}{d_u} (\ln(\sqrt{\det g})) = \frac{1}{2} \frac{1}{\det g} \cdot d_u (\det g)$$

$$x = g^{\lambda\sigma} d_u g_{\lambda\sigma} = \left\{ g^{\lambda i} = \frac{1}{\det g} \cdot \text{adj}(g)_{\lambda i} \right\} = \frac{1}{\det g} \cdot \text{adj}(g)_{\lambda\sigma} d_u g_{\lambda\sigma} = \frac{1}{\det g} \cdot d_u (\det g)$$

$$\Rightarrow \Theta = \frac{x}{2} \Rightarrow \text{the rest is zero}$$

$$d_u \Theta + \frac{1}{D-2} \Theta^2 = -8\pi G T_{uu} - \frac{1}{4} \text{Tr}(M^2)$$

3003110 הרצאה 7 פרק 13.17 מרחב זמן שטוח (2)

$$ds^2 = -\left(1 - \frac{2M}{r}\right) dt^2 + \left(1 - \frac{2M}{r}\right)^{-1} dr^2 + r^2 d\theta^2 + r^2 \sin^2\theta d\varphi^2 \quad :2021$$

$$= -du dv + r^2 d\theta^2 + r^2 \sin^2\theta d\varphi^2$$

$$u = u(r, t) \quad :2021$$

$$v = v(r, t)$$

$$M^i_j = g^{ik} du g_{kj} - \frac{1}{2} g^{mn} du g_{mn}$$

$$g^{mn} du g_{mn} = \frac{1}{r^2} du (r^2) + \frac{1}{r^2 \sin^2\theta} du (r^2 \sin^2\theta) = \frac{2}{r^2} du (r^2) = \frac{4}{r} \left(\frac{dr}{du}\right)$$

$$g^{ik} du g_{kj} = \frac{1}{r^2} du (r^2) \delta_{ij} = \frac{2}{r} \left(\frac{dr}{du}\right) \delta_{ij}$$

$$\Rightarrow M^i_j = \begin{pmatrix} 0 & 0 \\ 0 & 0 \end{pmatrix} \Rightarrow \text{Tr}(M^2) = 0$$

$$\Rightarrow du\theta + \frac{1}{2}\theta^2 = -8\pi G T_{uu}$$

$$8\pi G T_{uu} = R_{uu} = -du \Gamma_{\lambda\lambda}^{\lambda} - \Gamma_{u\mu}^{\lambda} \Gamma_{\lambda u}^{\mu}$$

$$= -du \left[\frac{1}{2} g^{\lambda\lambda} du g_{\lambda\lambda} \right] - \frac{1}{4} (g^{11} du g_{11})^2 - \frac{1}{4} (g^{22} du g_{22})^2$$

$$= -du \left[\frac{1}{2} g^{\lambda\lambda} du g_{\lambda\lambda} + \frac{1}{2} g^{22} du g_{22} \right] - \frac{1}{4} (g^{11} du g_{11})^2 - \frac{1}{4} (g^{22} du g_{22})^2$$

$$= -du \left[\frac{2}{r} \frac{dr}{du} \right] - \frac{2}{r^2} \left(\frac{dr}{du}\right)^2 = + \frac{2}{r^2} \left(\frac{dr}{du}\right)^2 - \frac{2}{r} \frac{d^2r}{du^2} - \frac{2}{r^2} \left(\frac{dr}{du}\right)^2$$

$$= -\frac{2}{r} \frac{d^2r}{du^2}$$

$$\Rightarrow \boxed{du\theta + \frac{1}{2}\theta^2 = \frac{2}{r} \frac{d^2r}{du^2}}$$

$$du = \frac{d}{du} = \frac{dr}{du} \frac{d}{dr} + \frac{dt}{du} \frac{d}{dt} \quad \wedge \quad \text{הצגה ב-0 היא נכונה}$$

↓

$$\boxed{\frac{dr}{du} \cdot \frac{d\theta}{dr} + \frac{1}{2}\theta^2 = \frac{2}{r} \frac{d^2r}{du^2}}$$

$$du = \left(1 - \frac{2M}{r}\right)^{\frac{1}{2}} dt + \left(1 - \frac{2M}{r}\right)^{-\frac{1}{2}} dr$$

$$dv = \left(1 - \frac{2M}{r}\right)^{\frac{1}{2}} dt + \left(1 - \frac{2M}{r}\right)^{-\frac{1}{2}} dr$$

$$-du dv = - \left[\left(1 - \frac{2M}{r}\right)^{\frac{1}{2}} dt + \left(1 - \frac{2M}{r}\right)^{-\frac{1}{2}} dr \right] \cdot \left[\left(1 - \frac{2M}{r}\right)^{\frac{1}{2}} dt + \left(1 - \frac{2M}{r}\right)^{-\frac{1}{2}} dr \right]$$

$$= - \left(1 - \frac{2M}{r}\right) dt^2 - dt dr + dt dr + \left(1 - \frac{2M}{r}\right)^{-1} dr^2 = - \left(1 - \frac{2M}{r}\right) dt^2 + \left(1 - \frac{2M}{r}\right)^{-1} dr^2$$

$$\begin{cases} \frac{1}{2} (du + dv) = \left(1 - \frac{2M}{r}\right)^{\frac{1}{2}} dt \Rightarrow \left(1 - \frac{2M}{r}\right)^{-\frac{1}{2}} \cdot (du + dv) = dt \\ \frac{1}{2} (dv - du) = \left(1 - \frac{2M}{r}\right)^{-\frac{1}{2}} dr \Rightarrow \left(1 - \frac{2M}{r}\right)^{\frac{1}{2}} (dv - du) = dr \end{cases}$$

↓

$$\begin{cases} \frac{dr}{du} = - \frac{1}{2} \left(1 - \frac{2M}{r}\right)^{\frac{1}{2}} \\ \frac{d^2 r}{du^2} = \left(\frac{dr}{du}\right) \cdot \frac{d}{dr} \left(\frac{dr}{du}\right) = - \frac{1}{2} \left(1 - \frac{2M}{r}\right)^{\frac{1}{2}} \cdot \frac{2M}{r^2} \cdot \frac{1}{2} \cdot \left(1 - \frac{2M}{r}\right)^{-\frac{1}{2}} = - \frac{M}{ar^2} \end{cases}$$

⇒

$$\frac{dr}{du} \cdot \frac{d\theta}{dr} + \frac{1}{2} \theta^2 = \frac{2}{r} \frac{dr}{du^2} \quad (2.23)$$

$$\boxed{- \frac{1}{2} \left(1 - \frac{2M}{r}\right)^{\frac{1}{2}} \cdot dr \theta + \frac{1}{2} \theta^2 = - \frac{M}{r^3}}$$

$$ds^2 = -dt^2 + a(t)^2 \frac{dr^2}{1-kr^2} + a(t)^2 r^2 d\Omega^2$$

$$= -du dv + g_{ij} dx^i dx^j$$

$$M_{ij} = \begin{pmatrix} 0 & 0 \\ 0 & 0 \end{pmatrix} \Leftrightarrow g_{ij} = \begin{pmatrix} a(t)^2 r^2 & \\ & a(t)^2 r^2 \sin^2 \theta \end{pmatrix} \quad \text{non}$$

$$8\pi G T_{uu} = R_{uu} = -d_u \Gamma_{u\lambda}^{\lambda} - \Gamma_{u\lambda}^{\lambda} \Gamma_{\lambda u}^{\lambda}$$

$$= -d_u \left[\frac{1}{2} g^{\lambda\sigma} d_u g_{\sigma\lambda} \right] - \frac{1}{4} (g^{uu} d_u g_{uu})^2 - \frac{1}{4} (g^{22} d_u g_{22})^2$$

$$= -d_u \left[\frac{1}{2} \frac{1}{a^2(t)r^2} d_u (a^2(t)r^2) \right] - \frac{1}{2} \left(\frac{1}{a^2(t)r^2} d_u (a^2(t)r^2) \right)^2$$

$$\left\{ \frac{d}{du} = \frac{dt}{du} \frac{d}{dt} + \frac{dr}{du} \frac{d}{dr} \right\} = -d_u \left[\frac{1}{a^2(t)r^2} (2\dot{a}(t)a(t)r^2 \left(\frac{dt}{du}\right) + 2ra(t)^2 \left(\frac{dr}{du}\right)) \right]$$

$$- \frac{1}{2} \left[\frac{1}{a^2(t)r^2} (2\dot{a}(t)a(t)r^2 \left(\frac{dt}{du}\right) + 2ra(t)^2 \left(\frac{dr}{du}\right)) \right]^2$$

$$= -d_u \left[\frac{2\dot{a}(t)}{a(t)} \cdot \left(\frac{dt}{du}\right) + \frac{2}{r} \left(\frac{dr}{du}\right) \right] - \frac{1}{2} \left[4 \left(\frac{\dot{a}(t)}{a(t)}\right)^2 \cdot \left(\frac{dt}{du}\right)^2 + \frac{4\dot{a}(t)}{ra(t)} \cdot \left(\frac{dr}{du}\right) \left(\frac{dt}{du}\right) + \frac{2}{r^2} \cdot \left(\frac{dr}{du}\right)^2 \right]$$

$$= -2 \left(\frac{\dot{a}(t)}{a(t)}\right) \cdot \left(\frac{dt}{du}\right)^2 - 2 \left(\frac{\dot{a}(t)}{a(t)}\right) \cdot \frac{d^2 t}{du^2} - \frac{2}{r} \left(\frac{d^2 r}{du^2}\right) - \frac{2}{r} \frac{\dot{a}(t)}{a(t)} \left(\frac{dr}{du}\right) \left(\frac{dt}{du}\right)$$

$$\Rightarrow \left(\frac{dt}{du} \right) \cdot dt\theta + \left(\frac{dr}{du} \right) dr\theta + \frac{1}{2} \theta^2 = 2 \left(\frac{\dot{a}(t)}{a(t)}\right) \cdot \left(\frac{dt}{du}\right)^2 + 2 \left(\frac{\dot{a}(t)}{a(t)}\right) \frac{d^2 t}{du^2} + \frac{2}{r} \left(\frac{d^2 r}{du^2}\right) - \frac{2}{r} \frac{\dot{a}(t)}{a(t)} \cdot \left(\frac{dr}{du}\right) \left(\frac{dt}{du}\right)$$

$$du = dt + \frac{a(t)}{\sqrt{1-kr^2}} dr$$

$$dt = \frac{1}{2} du + \frac{1}{2} dv$$

$$dv = dt - \frac{a(t)}{\sqrt{1-kr^2}} dr$$

$$dr = \frac{\sqrt{1-kr^2}}{2a(t)} (du - dv)$$

$$\frac{d^2 r}{du^2} = \frac{dr}{du} \cdot \frac{d}{dr} \left(\frac{\sqrt{1-kr^2}}{2a(t)} \right) + \frac{dt}{du} \cdot \frac{d}{dt} \left(\frac{\sqrt{1-kr^2}}{2a(t)} \right) = -\frac{kr}{4a^2(t)} - \frac{\sqrt{1-kr^2} \cdot \dot{a}(t)}{4a^2(t)}$$

$$\Rightarrow \frac{1}{2} dt\theta + \frac{\sqrt{1-kr^2}}{2a(t)} dr\theta + \frac{1}{2} \theta^2 = \frac{1}{2} \left(\frac{\dot{a}(t)}{a(t)}\right) - \frac{k}{2a^2(t)} - \frac{\sqrt{1-kr^2} \dot{a}(t)}{2a^2(t)r} - \frac{1}{r} \frac{\dot{a}(t)}{a(t)} \frac{\sqrt{1-kr^2}}{2a(t)}$$